8.1 supplemental HW

1.) For each of the following differential equations (i) draw its direction field; (ii) sketch the solution

of the direction field that passes through the point (-2, 1); (iii) state the general solution to the

differential equation.

2.) Circle a solution to the differential equation whose direction field is given below:
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3.) Circle the differential equation whose direction field is given below:
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https://www.vyolframalpha.com/input/?i=slope+ﬁeld&assumption={"F e

slope field
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Browse Examples

B W =

slope field” refers to a computation | Use as referring to a mathematical definition instead

Assuming
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= vector field:

X

« variable 1:

« lower limit 1:

0

10

« upper limit 1:

y

» variable 2;

-2

» lower limit 2:

= upper limit2: 3
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> with(DEtools) :

>
> dﬁeldplot(
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